
Polynomial and Rational Inequalities: 

 

To solve a polynomial or rational inequality, just do the following steps: 

 

1. Get zero on one side. 

 

2. Create the sign chart for the other side. 

 

3. Read the solution from the sign chart. 

 

 

 

 

 

 



Examples: 

 

1. ( )( )
2

5 2 0x x− +   

 

 

 

The solution in interval notation is ( )5, . 

 

 

2. ( )23 2 8 08 0x x xx  ++    
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2−  5  

0  0  +  − − 
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3. ( )( )3 2 02 3 0 3 1x x x xx x+ − + −    

 

 

 

   )3 0 1, ,−   

 

 

4. ( )( )4 2 24 2 9 0 3 3 09x x x x x x x −   + −   

 

 

 

 

 3 3,−  
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− 
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5. ( )22
2

4 4 04 2 04 x xx xx  − +  +  −   
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6. 
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7. 
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4 5 0x x− +   

 

 

 

no solution 
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The solution in interval notation is ( )  )1 3, ,− −  . 

 

 

1−  3  
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11. 
( )

( )( )

( )

( )( )

( )

( )( )
0

5 5 1 3 35 3
0 0

3 1 31 1 1 3

2

3

3

7

3

1

x x

x x x x

x

x

x

x x x

x

+ −
 −   − 

− + − +


− + + −

+
 

− +

 

 

( ) ( )7 1 3, ,− −   

 

12. 
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( ) ( )2 3 5, ,−  
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